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CC301/CE301 TR o
2018
THEORY OF STRUCTURE
Fruiia ww : i @R ; [SAftreaw 37 : 70
Time allowed : Three Hours] ' [Maximum Marks : 70

Fe: () FYHFE A9 8, 99 7 8 e yia & IR G /|

Note : Question No. 1 is compulsory, answer any FIVE questions from the remaining.

(ii) ¥ F9 & G 97T H FHAR T Gre 57 Hod |
Solve all parts of a question consecutively together.
(iii) ¥IF F¥ H 79 78 @ IRE Fif7 |
Start each question on fresh page.

(iv) @1 qrarsn 7 s 517 %1 i 7 37 srgag & ar=r 8 |

Only English version is valid in case of difference in both the languages.

1. () fafm et & wfaframd fafe |
Wriltes the reactions of various joints.
(i) et o fg-ammener faft d s fafed |
Werite the difference between Macaulay’s method and double integration method.
(iii) B2 U & W O & 7R R | :
Difference between arch beam and simple beam.
(v) Fratf o srfrafl g 3 s fakad |
Differencial between Determinate & Indeterminate Structures.
(v) Tr-amepl s ot fofteg |
Write the three moment theorem. (2x5)

< (1 of 4) P.T.O.



CC301/CE301 (2 of 4) 1119

2. had So1  seh 3TVl TRE &1ed | (Fe=-1)
Draw the SFD & BMD for fig. 1.
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3. 3 TafHa ST HIRA o S 91 9 T YT IRE T | (fe-2)
Find out the prop reaction and draw the SFD and BMD. (fig. 2)
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-’ T T 2 kN/m €U d 3 m, SITE b1 SHIART YR SeamH @ | fag <00 R sritehan e
el o S w1 3@ s | (F-3) |

A rolling load of 3 m. in length having UDL-2 kN/m applied on a beam. Calculate the
reaction, and draw SFD & BMD at C point for Rolling load as shown in fig. 3.
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5. o 4 9 gmid T w¥ft SrawEl § S % HE i HIT |

Determine the forces in various members as shown in Fig. 4.
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6.

fag B W e 9 faaw wira e qen a7 o 9 S et ITRE e (Re-5) |
Find out the slope and deflection at B point and draw the SFD and BMD of fig. 5.
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IS e il % # :
fe=-5/ Fig. 5 < (12)

e T TR JTar wra it (fem-6 aen 7) |

Determine the external and internal indeterminacy of the Fig. 6 and 7.

i | ]
(1) Ag T T ; ED
| B C
fe=-6 / Fig. 6
H G F
(i)
A 3 & A E
B % - D ,
fe=-7/ Fig. 7 (2x6)

forg A W wfaforan Sremm™ YR o871 W@ 8 Sk s F e g csdr aw
o T T STelt T HRE @ i hifg (-8 qen 9) |

Find out the reaction at A and draw the SFD & BMD at point C of the fig. 8 and fig. 9
of simply supported beam with rolling load.
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